Count money (pence) discussion problems
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2. Theo wants to buy one item from the shop. He has the following coins in his piggy
bank:

He uses 6 coins to pay for one of the following items:
2 —

Drink Lolly Apple Crisps Cake
75p 13p 18p 25p 89%p

Investigate the different items Theo could have bought and the coins he could have
used.
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1. Jack, Elsa and Tom are counting their pocket money.

‘; 5' JI have 7 coins. The total is greater than é1p but less than 99p.
-~
Mo
Jack
( | have 4 coins. They total less than 50p. N ot
Elsa
@ J My amount is more than Elsa’s but less than Jack’s.
Tom

Using the coins below, explore the different combinations of coins each child could
have. The children may have more than one of each coin.
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2. Theo wants to buy one item from the shop. He has the following coins in his piggy

bank: _
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